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STRATEGIC MANAGEMENT 
Paper : MC-3.4

Time : Three Hours] [Maximum Marks : 80

The candidates shall limit their answers precisely within the 
answer-book (40 pages) issued to them and no supplementary/ 
continuation sheet will be issued.
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Note: There are nine questions in all. First question is 
compulsory and consists of ten (10) questions having 
two (2) marks each. The candidate will attempt one 
question from each unit and each question carries fifteen 
(15) marks.
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Compulsory Question 
( 3<Pl«(l4 UFT)

1. Short Answer questions :

3TF1 :
(i) Pump Priming Approach.

(ii) Differentiate between vision and mission.

afk sifMid 4k srr

(iii) Company self concept.

(iv) Switching Costs.

WTcTI
(v) Deculturation and Integration.

afk

(vi) What are management buyouts?
WH <MH31I<1<1 W t?

(vii) What are the attributes of effective strategies?
31'^41 *l4dlfd* fl W t?

(viii) Explain corporate resource planning.
wni WW ^t'l

(ix) BCG Matrix.
<« ^RTI

(x) Strategic Choice and Tactic.
*l4dird* 3?k TMWl
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UNIT-I

(3^-1)
2. 'Strategic management process is the way in which 

strategists determine objectives and Strategic decisions'. 
Discuss.
* cbl44IRl<=h 31WT Tlfst^T t 1^' FlWbH

3lh FHlfd* faqffa TOt t’’| fM^Hl

^tf^l

3. 'Mission describes the present and vision of the future'. 
With this statement in mind compare mission and vision 
statements?

^T 3fk TOT t’l

cJcHT

UNIT-II

(w£-n)
4. 'The five forces model provides the rationale for increasing 

or decreasing resources commitment'. Comment.

yfdM^di ’eri^
’tel rnf WT TOT t’l
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5. Suppose you are newly appointed CEO of retail major. 
How would you perform the internal analysis to identify 
the resources and capabilities of the firm?
RET 11

7# W*Etf SPEH 3TH STIWe

UNIT-III

6. 'Organisation does not have a 'best' or a 'worst' culture'. 
Substantiate.
‘TERR 3 dldlcK<J| HTf

Tfal t’l MMlfuid

7. 'A firm is sick!' What do you mean by this statement? 
How can you prevent this sickness?.

SRWERt t’l TH 3 3TIWT W srfqUH t?

31N TH -far

UNIT-IV

(wi-iv)
8. 'Business strategy and tactics go hand in hand". Discuss. 

‘Wm chlWcl 3^1 TUFftfn WT-TTW t’’l
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9. Though BCG matrix can be very helpful in forcing 
decisions in managing a portfolio of products, it cannot 
be employed as the sole means of determining strategies 
for a portfolio of products. Do you agree with this 
statement or not? Why?
nufn nunt’ 1wnt’ w%th fMn
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